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4 61.9| 758| 85.4 0 1,022 99 2| 1,123] 1,339 65.2| 79.7[ 99.2
5 61.7| 75.7| 86.2 0 951 77 1] 1,029 1,192| 67.9| 81.8] 101.5
6 60.6 | 74.3| 86.3 0 600 | 106 15 721 1,068 66.3] 80.3| 100.9
7 57.6 | 70.6| 83.9 1 327 24 7 359 479 | 66.9| 78.0| 957
8 53.3| 67.7| 826 0 261 35 2 298 386 59.7| 74.1] 96.9
9 61.5| 75.6| 84.0 0 1,704[ 373 2| 2079 | 2,843 68.4| 824 944
10 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
11 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
12 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
1 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
2 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
3 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
A R SES|4E R S E S|4 R Y 1] 4,865 714 29 | 5,609 | 7,307 |4 [ f v | AF [ de v | 4 [ o v
HE[H]
m/A ] B/A [ B/A[E/BA] E/A [ E/A
SM7EE (BEBI5TH)
AR [smwe~n /2 =S =1 H 5 &
H | Lden [WECPNL| dB(A) — HPR - B B E fE
s | 0~ | 7T~19 |19~22|22~24) HEF |[EERE
Tt Lden [WECPNL| dB(A)
4 63.8| 77.3| 86.1 0 1,192 111 0| 1,303| 1,525 71.3| 84.9| 104.6
5 63.3| 77.4| 86.8 2| 1,065[ 111 1] 1,179 1428 | 69.5| 83.9| 105.9
6 62.1| 75.3| 85.6 1 687 99 17 804 | 1,164 71.5| 82.7| 102.6
7 56.5| 69.8| 83.3 6 335 40 6 387 575 | 62.7] 76.8| 98.8
8 52.3| 65.5| 80.7 0 219 43 0 262 348 59.5| 73.0] 92.1
9 63.3| 76.9| 84.1 0 1.835[ 458 0| 2293[ 3,209| 71.5| 84.7[ 103.9
10 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
11 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
12 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
1 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
2 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
3 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
A [ A P4 A D - P A TR 2 9] 5,333 862 24 | 6,228 | 8,249 |4 [H s e | AF M fe v | 4F [ o
S|
E/H ] B/H | B/A[E/B] E/BH [ B/H




I HER SR TSR
SM7EE (BFESE3TH)
HAREY) [mwe~n /2R =S = N § H e
H Lden [WECPNL| dB(A) . | F SR — B JEE
e | 07 | 7~19 |19~22(22~24 &3t |EERKK
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4 59.4| 71.3| 82.8 421 78 499 655 66.5] 78.1] 99.1
5 57.8| 70.1| 82.1 394 70 0 464 604 | 65.7| 774 945
6 59.1| 71.6| 83.4 1 278 76 19 374 706 | 69.7] 80.6] 94.5
7 54.3| 67.3| 795 12 132 27 2 173 353 642 78.9| 93.6
8 52.2| 64.7] 81.9 0 76 33 0 109 175 63.2| 75.4| 935
9 59.5| 71.8| 82.6 0 367 217 0 584 | 1,018 66.3] 79.4| 96.6
10 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
11 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
12 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
1 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
2 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
3 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
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4 55.5| 68.3| 81.3 0 252 63 315 441 634 75.7] 96.4
5 54.2| 67.1] 80.8 0 252 47 0 299 393 622 75.8| 96.2
6 56.2| 69.2| 81.9 1 203 56 16 276 541 67.3] 78.0| 94.7
7 51.1| 63.5| 78.3 4 66 18 0 88 160 62.0| 74.3| 93.1
8 50.3| 63.3[ 79.2 0 45 22 0 67 111] 62.5| 75.0[ 97.0
9 58.0| 71.1| 83.3 0 269 | 136 0 405 677 659 79.6| 102.5
10 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
11 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
12 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
1 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
2 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
3 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
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4 51.0| 63.9[ 78.9 0 211 42 0 253 337 57.1| 70.4] 90.0
5 50.1| 62.9[ 78.2 0 222 36 0 258 330 56.6| 69.8] 92.3
6 52.3| 64.6| 79.8 1 150 39 11 201 387 634 75.0] 93.0
7 46.9| 60.3| 75.6 5 59 14 0 78 151 57.8] 72.6| 88.2
8 45.2 58.0| 79.6 0 37 21 0 58 100| 54.7| 68.3| 885
9 53.9| 66.4| 80.7 0 215 | 122 0 337 581 62.3] 73.7] 95.1
10 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
11 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
12 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
1 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
2 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
3 0.0 0.0 0.0 0 0 0 0 0 0 0.0 0.0 0.0
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